ON THE BICOMPLEX PADOVAN AND BICOMPLEX PERRIN NUMBERS

O. Dışkaya, H. Menken

ABSTRACT. In this paper we first introduce the bicomplex Padovan and bicomplex Perrin numbers which generalize Padovan and Perrin numbers, and then we derive the Binet-like formulas, the generating functions and the exponential generating functions, series, sums of these sequences. Also, we obtain some binomial identities for them.

2010 Mathematics Subject Classification: 11B39, 05A15, 11R52, 97F50.

Keywords: Padovan numbers, Perrin numbers, bicomplex Padovan sequence, bicomplex Perrin sequence, Binet-like formula, Generating function, Binomial sum.

1. INTRODUCTION

Quaternion numbers were defined by Hamilton in 1843. These numbers have an algebraic structure that has all the properties of real and complex numbers, except the property of change of multiplication. There are also many studies on quaternion numbers [1, 2, 7, 9, 11, 12]. The bicomplex numbers were defined by James Cockle [6]. The quaternions were defined by Hamilton in 1943 as an extension to the complex numbers. Cockle defined a bicomplex number as $a = m_1 + jm_2$ using the new unit j, which Hamilton described, inspired by the definition of quaternions. Segre contributed different interpretations by working again on the algebra of bicomplex numbers in 1892 [29]. Srivastava has created various studies using complex numbers [5, 22]. Recently, some studies have been done on bicomplex numbers. Relevant sources can be consulted for some of the studies carried out [3, 4, 13, 14, 18, 23, 24, 25, 26, 33, 34, 35, 36, 37. In addition, there are some studies on bicomplex numbers and their algebra, geometry, topology, dynamic and quantum properties. For some of these studies can look at [10, 15, 16, 19, 20, 21, 27, 28, 30]. They are formed a four dimensional real vector space with a multiplicative operation. They have played a significant role in physical science, differential geometry, analysis and synthesis of mechanisms and machines, theory of relativity and others. Unlike quaternion algebra, the bicomplex contains the commutative form.

A bicomplex is defined by

$$q = q_0 + q_1 i + q_2 j + q_3 i j$$

where q_0 , q_1 , q_2 and q_3 are real numbers. The bicomplex multiplication is defined using the rules;

$$i^2 = -1$$
, $j^2 = -1$, and $ij = ji$.

Bicomplex bir sayı aşağıdaki biçimde ifade edilebilir:

$$q = q_0 + q_1i + q_2j + q_3ij = q_0 + q_1i + (q_2 + q_3i)j$$

Special number sequences have play important role in mathematics and applied sciences. Moreover, some special number sequences such as Fibonacci, Lucas, Pell, Jacobsthal, Padovan and Perrin sequences have many applications in art, music, photography, architecture, painting, engineering, geometry and others. It is wellknown that the term golden ratio is defined the ratio of two consecutive Fibonacci numbers converges to

$$\frac{1+\sqrt{5}}{2} \approx 1.618034.$$

The golden ratio has many applications in engineering, physics, architecture, arts and other. In similar way, the ratio of two consecutive Padovan or Perrin numbers converges to

$$\sqrt[3]{\frac{1}{2} + \frac{1}{6}\sqrt{\frac{23}{3}}} + \sqrt[3]{\frac{1}{2} - \frac{1}{6}\sqrt{\frac{23}{3}}} \approx 1.324718,$$

that is called as "plastic ratio". The plastic ratio (number) was first defined by Gerard Cordonnier in 1924. He described applications to architecture and illustrated the use of the plastic number in many buildings. Furthermore, the plastic number is the unique real root of the equation

$$x^3 - x - 1 = 0,$$

the characteristic equation of Padovan number sequences. (see [11, 17, 32]). The Padovan sequence $\{P_n\}_{n\geq 0}$ is defined by the initial values $P_0 = P_1 = P_2 = 1$ and the recurrence relation

$$P_{n+3} = P_{n+1} + P_n, \quad \text{for all } n \ge 0.$$
 (1)

First few terms of this sequence are 1, 1, 1, 2, 2, 3, 4, 5, 7, 9, 12, 16, 21, 28. The Perrin sequence $\{R_n\}_{n\geq 0}$ is defined by the initial values $R_0 = 3, R_1 = 0$ and $R_2 = 2$ and the recurrence relation

$$R_{n+3} = R_{n+1} + R_n, \quad \text{for all } n \ge 0.$$
 (2)

First few terms of Perrin sequence are 3, 0, 2, 3, 2, 5, 5, 7, 10, 12, 17, 22, 29. Padovan and Perrin sequence can be found in [17, 31, 32]. For every $x \in \mathbb{N}$, one can write the Binet-like formulas for the Padovan and Perrin sequences as the form

$$P_n = a\alpha^n + b\beta^n + c\gamma^n \tag{3}$$

and

$$R_n = \alpha^n + \beta^n + \gamma^n \tag{4}$$

where α , β and γ are the roots of the characteristic equation

$$x^3 - x - 1 = 0 \tag{5}$$

associated with (1) and (2), where

$$a = \frac{(\beta - 1)(\gamma - 1)}{(\alpha - \beta)(\alpha - \gamma)}, b = \frac{(\alpha - 1)(\gamma - 1)}{(\beta - \alpha)(\beta - \gamma)}, c = \frac{(\alpha - 1)(\beta - 1)}{(\alpha - \gamma)(\beta - \gamma)}.$$

The Binet-like formulas for the Padovan and Perrin sequences were given in [7, 8, 9].

2. The Bicomplex Padovan and Perrin Sequences

In this section, we define two new bicomplex sequences which are the bicomplex Padovan and bicomplex Perrin sequences. Then, we give their Binet-like formulas, generating functions, series functions, partial sums and certain binomial sums.

Definition 1. The bicomplex Padovan sequence $\{CP_n\}_{n\geq 0}$ is defined by

$$CP_n = P_n + P_{n+1}i + P_{n+2}j + P_{n+3}ij$$
(6)

where P_n is the nth Padovan number.

Definition 2. The bicomplex Perrin sequence $\{CR_n\}_{n\geq 0}$ is defined by

$$CR_n = R_n + R_{n+1}i + R_{n+2}j + R_{n+3}ij$$
(7)

where R_n is the nth Perrin number.

Theorem 1 (Binet-like formula). The Binet-like formulas for the bicomplex Padovan sequence $\{CP_n\}_{n\geq 0}$ is

$$\mathcal{C}P_n = a\hat{\alpha}\alpha^n + b\hat{\beta}\beta^n + c\hat{\gamma}\gamma^n,\tag{8}$$

where

$$\hat{\alpha} = 1 + \alpha i + \alpha^2 j + \alpha^3 i j,$$
$$\hat{\beta} = 1 + \beta i + \beta^2 j + \beta^3 i j,$$

and

$$\hat{\gamma} = 1 + \gamma i + \gamma^2 j + \gamma^3 i j.$$

Proof. From the definition of *n*th bicomplex Padovan sequence $\{CP_n\}$ in (6) and Binet-like formula for the *n*th Padovan number P_n , we write

$$\begin{split} \mathcal{C}P_n &= P_n + P_{n+1}i + P_{n+2}j + P_{n+3}ij \\ &= (a\alpha^n + b\beta^n + c\gamma^n) + (a\alpha^{n+1} + b\beta^{n+1} + c\gamma^{n+1})i + (a\alpha^{n+2} \\ &+ b\beta^{n+2} + c\gamma^{n+2})j + (a\alpha^{n+3} + b\beta^{n+3} + c\gamma^{n+3})ij \\ &= a(1 + \alpha i + \alpha^2 j + \alpha^3 i j)\alpha^n + b(1 + \beta i + \beta^2 j + \beta^3 i j)\beta^n \\ &+ c(1 + \gamma i + \gamma^2 j + \gamma^3 i j)\gamma^n \\ &= a\hat{\alpha}\alpha^n + b\hat{\beta}\beta^n + c\hat{\gamma}\gamma^n \end{split}$$

Thus, the proof is completed.

Theorem 2 (Binet-like formula). The Binet-like formula for the bicomplex Perrin sequence $\{CR_n\}_{n\geq 0}$ is

$$CR_n = \hat{\alpha}\alpha^n + \hat{\beta}\beta^n + \hat{\gamma}\gamma^n, \qquad (9)$$

where

$$\hat{\alpha} = 1 + \alpha i + \alpha^2 j + \alpha^3 i j,$$
$$\hat{\beta} = 1 + \beta i + \beta^2 j + \beta^3 i j,$$

and

$$\hat{\gamma} = 1 + \gamma i + \gamma^2 j + \gamma^3 i j.$$

Proof. From the definition of *n*th bicomplex Perrin sequence $\{CR_n\}$ in (7) and Binetlike formula for the *n*th Perrin number R_n , we write

$$\begin{aligned} \mathcal{C}R_n &= R_n + R_{n+1}i + R_{n+2}j + R_{n+3}ij \\ &= (\alpha^n + \beta^n + \gamma^n) + (\alpha^{n+1} + \beta^{n+1} + \gamma^{n+1})i + (\alpha^{n+2} + \beta^{n+2} \\ &+ \gamma^{n+2})j + (\alpha^{n+3} + \beta^{n+3} + \gamma^{n+3})ij \\ &= (1 + \alpha i + \alpha^2 j + \alpha^3 i j)\alpha^n + (1 + \beta i + \beta^2 j + \beta^3 i j)\beta^n \\ &+ (1 + \gamma i + \gamma^2 j + \gamma^3 i j)\gamma^n \\ &= \hat{\alpha}\alpha^n + \hat{\beta}\beta^n + \hat{\gamma}\gamma^n \end{aligned}$$

Thus, the proof is completed.

Theorem 3. The generating function for the bicomplex Padovan sequence $\{CP_n\}$ is

$$\mathcal{G}_{CP}(x) = \frac{1+i+j+2ij+(1+i+2j+2ij)x+(i+j+ij)x^2}{1-x^2-x^3}.$$

Proof. Assume that the function

$$\mathcal{G}_{\mathcal{C}P}(x) = \sum_{n=0}^{\infty} \mathcal{C}P_n x^n = \mathcal{C}P_0 + \mathcal{C}P_1 x + \mathcal{C}P_2 x^2 + \mathcal{C}P_3 x^3 + \ldots + \mathcal{C}P_n x^n + \ldots$$

be generating function of the bicomplex Padovan sequence. Multiply both of side of the equality by the term $-x^2$ such as

$$-x^2 \mathcal{G}_{\mathcal{CP}}(x) = -\mathcal{CP}_0 x^2 - \mathcal{CP}_1 x^3 - \mathcal{CP}_2 x^4 - \mathcal{CP}_3 x^5 - \dots - \mathcal{CP}_n x^{n+2} - \dots$$

and multiply by the term $-x^3$ such as

$$-x^{3}\mathcal{G}_{\mathcal{C}P}(x) = -\mathcal{C}P_{0}x^{3} - \mathcal{C}P_{1}x^{4} - \mathcal{C}P_{2}x^{5} - \mathcal{C}P_{3}x^{6} - \dots - \mathcal{C}P_{n}x^{n+3} - \dots$$

Then, we write

$$(1 - x^{2} - x^{3})\mathcal{G}_{CP}(x) = \mathcal{C}P_{0} + \mathcal{C}P_{1}x + (\mathcal{C}P_{2} - \mathcal{C}P_{0})x^{2} + (\mathcal{C}P_{3} - \mathcal{C}P_{1})x^{3} + \dots + (\mathcal{C}P_{n} - \mathcal{C}P_{n-2} - \mathcal{C}P_{n-3})x^{n} + \dots$$

Now, by using

$$CP_0 = 1 + i + j + 2ij,$$

 $CP_1 = 1 + i + 2j + 2ij,$
 $CP_2 = 1 + 2i + 2j + 3ij,$

and

$$\mathcal{C}P_n - \mathcal{C}P_{n-2} - \mathcal{C}P_{n-3} = 0,$$

we obtain that

$$\mathcal{G}_{\mathcal{C}P}(x) = \frac{1+i+j+2ij+(1+i+2j+2ij)x+(i+j+ij)x^2}{1-x^2-x^3}$$

Thus, the proof is completed.

Theorem 4. The generating function of the bicomplex Perrin sequence $\{CR_n\}$ is

$$\mathcal{G}_{CR}(x) = \frac{3+2j+3ij+(2i+3j+2ij)x+(-1+3i+2ij)x^2}{1-x^2-x^3}$$

Proof. Let

$$\mathcal{G}_{CR}(x) = \sum_{n=0}^{\infty} \mathcal{C}R_n x^n = \mathcal{C}R_0 + \mathcal{C}R_1 x + \mathcal{C}R_2 x^2 + \mathcal{C}R_3 x^3 + \ldots + \mathcal{C}R_n x^n + \ldots$$

be generating function of the bicomplex Perrin sequence. Now multiply both of side of the equality by term $-x^2$ such as

$$-x^{2}\mathcal{G}_{CR}(x) = -\mathcal{C}R_{0}x^{2} - \mathcal{C}R_{1}x^{3} - \mathcal{C}R_{2}x^{4} - \mathcal{C}R_{3}x^{5} - \dots - s\mathcal{C}R_{n}x^{n+2} - \dots$$

and multiply by $-x^3$ such as

$$-x^{3}\mathcal{G}_{CR}(x) = -\mathcal{C}R_{0}x^{3} - \mathcal{C}R_{1}x^{4} - \mathcal{C}R_{2}x^{5} - \mathcal{C}R_{3}x^{6} - \dots - \mathcal{C}R_{n}x^{n+3} - \dots$$

Then, we write

$$(1 - x^{2} - x^{3})\mathcal{G}_{CR}(x) = \mathcal{C}R_{0} + \mathcal{C}R_{1}x + (\mathcal{C}R_{2} - \mathcal{C}R_{0})x^{2} + (\mathcal{C}R_{3} - \mathcal{C}R_{1} - \mathcal{C}R_{0})x^{3} + \dots + (\mathcal{C}R_{n} - \mathcal{C}R_{n-2} - \mathcal{C}R_{n-3})x^{n} + \dots$$

By using

$$CR_0 = 3 + 2j + 3ij,$$

 $CR_1 = 2i + 3j + 2ij,$
 $CR_2 = 2 + 3i + 2j + 5ij,$

and

$$\mathcal{C}R_n - \mathcal{C}R_{n-2} - \mathcal{C}R_{n-3} = 0,$$

we obtain that

$$\mathcal{G}_{CR}(x) = \frac{3+2j+3ij+(2i+3j+2ij)x+(-1+3i+2ij)x^2}{1-x^2-x^3}.$$

This completes the proof.

Theorem 5. The exponential generating function for the bicomplex Padovan sequence $\{CP_n\}$ is

$$E_{\mathcal{C}P}(x) = ae^{\alpha x} + be^{\beta x} + ce^{\gamma} = \sum_{n=0}^{\infty} \frac{\mathcal{C}P_n}{n!} x^n.$$

Proof. We know that,

$$e^{\alpha x} = \sum_{n=0}^{\infty} \frac{\alpha^n x^n}{n!}, \quad e^{\beta x} = \sum_{n=0}^{\infty} \frac{\beta^n x^n}{n!}, \quad e^{\gamma x} = \sum_{n=0}^{\infty} \frac{\gamma^n x^n}{n!}$$

Multiplying each side of the identities, respectively, by a, b and c and adding of them, we obtain that

$$ae^{\alpha x} + be^{\beta x} + ce^{\gamma x} = \sum_{n=0}^{\infty} (a\alpha^n + b\beta^n + c\gamma^n) \frac{1}{n!} x^n = \sum_{n=0}^{\infty} \frac{\mathcal{C}P_n}{n!} x^n.$$

Theorem 6. The exponential generating function for the bicomplex Perrin sequence $\{CR_n\}$ is

$$E_{CR}(x) = e^{\alpha x} + e^{\beta x} + e^{\gamma} = \sum_{n=0}^{\infty} \frac{CR_n}{n!} x^n.$$

Proof. We know that,

$$e^{\alpha x} = \sum_{n=0}^{\infty} \frac{\alpha^n x^n}{n!}, \quad e^{\beta x} = \sum_{n=0}^{\infty} \frac{\beta^n x^n}{n!}, \quad e^{\gamma x} = \sum_{n=0}^{\infty} \frac{\gamma^n x^n}{n!}$$

we obtain that

$$e^{\alpha x} + e^{\beta x} + e^{\gamma x} = \sum_{n=0}^{\infty} (\alpha^n + \beta^n + \gamma^n) \frac{1}{n!} x^n = \sum_{n=0}^{\infty} \frac{\mathcal{C}R_n}{n!} x^n.$$

Theorem 7. The series function for the bicomplex Padovan sequence $\{CP_n\}$ is

$$\mathcal{S}_{CP}(x) = \frac{(1+i+j+2ij)x^3 + (1+i+2j+2ij)x^2 + (i+j+ij)x}{x^3 - x - 1}.$$

Proof. Assume that the function

$$S_{CP}(x) = \sum_{n=0}^{\infty} CP_n x^{-n} = CP_0 + CP_1 x^{-1} + CP_2 x^{-2} + CP_3 x^{-3} + \dots + CP_n x^{-n} + \dots$$

be series function of the bicomplex Padovan sequence. Multiply both of side of the equality by the term x^3 such as

$$x^{3}\mathcal{S}_{\mathcal{C}P}(x) = \mathcal{C}P_{0}x^{3} + \mathcal{C}P_{1}x^{2} + \mathcal{C}P_{2}x + \mathcal{C}P_{3} + \ldots + \mathcal{C}P_{n}x^{3-n} + \ldots$$

and multiply by the term -x such as

$$-x\mathcal{C}_{\mathcal{C}P}(x) = -\mathcal{C}P_0x - \mathcal{C}P_1 - \mathcal{C}P_2x^{-1} - \mathcal{C}P_3x^{-2} - \dots - \mathcal{C}P_nx^{1-n} - \dots$$

Then, we write

$$(x^{3} - x - 1)S_{CP}(x) = CP_{0}x^{3} + CP_{1}x^{2} + (CP_{2} - CP_{0})x + (CP_{3} - CP_{1} - CP_{0}) + \dots + (CP_{n} - CP_{n-2} - CP_{n-3})x^{3-n} + \dots$$

Now, by using

$$CP_0 = 1 + i + j + 2ij,$$

 $CP_1 = 1 + i + 2j + 2ij,$
 $CP_2 = 1 + 2i + 2j + 3ij,$

and

$$\mathcal{C}P_n - \mathcal{C}P_{n-2} - \mathcal{C}P_{n-3} = 0,$$

we obtain that

$$\mathcal{S}_{CP}(x) = \frac{(1+i+j+2ij)x^3 + (1+i+2j+2ij)x^2 + (i+j+ij)x}{x^3 - x - 1}$$

Thus, the proof is completed.

Theorem 8. The series function for the bicomplex Perrin sequence $\{CR_n\}$ is

$$\mathcal{S}_{CR}(x) = \frac{(3+2j+3ij)x^3 + (2i+3j+2ij)x^2 + (-1+3i+2ij)x}{x^3 - x - 1}.$$

Proof. Assume that the function

$$S_{CR}(x) = \sum_{n=0}^{\infty} CR_n x^{-n} = CR_0 + CR_1 x^{-1} + CR_2 x^{-2} + CR_3 x^{-3} + \dots + CR_n x^{-n} + \dots$$

be series function of the bicomplex Perrin sequence. Multiply both of side of the equality by the term x^3 such as

$$x^{3}\mathcal{S}_{\mathcal{C}R}(x) = \mathcal{C}R_{0}x^{3} + \mathcal{C}R_{1}x^{2} + \mathcal{C}R_{2}x + \mathcal{C}R_{3} + \ldots + \mathcal{C}R_{n}x^{3-n} + \ldots$$

and multiply by the term -x such as

$$-x\mathcal{C}_{\mathcal{C}R}(x) = -\mathcal{C}R_0x - \mathcal{C}R_1 - \mathcal{C}R_2x^{-1} - \mathcal{C}R_3x^{-2} - \dots - \mathcal{C}R_nx^{1-n} - \dots$$

Then, we write

$$(x^{3} - x - 1)S_{CR}(x) = CR_{0}x^{3} + CR_{1}x^{2} + (CR_{2} - CR_{0})x + (CR_{3} - CR_{1} - CR_{0}) + \dots + (CR_{n} - CR_{n-2} - CR_{n-3})x^{3-n} + \dots$$

By using

$$CR_0 = 3 + 2j + 3ij,$$

 $CR_1 = 2i + 3j + 2ij,$
 $CR_2 = 2 + 3i + 2j + 5ij,$

and

$$\mathcal{C}R_n - \mathcal{C}R_{n-2} - \mathcal{C}R_{n-3} = 0,$$

we obtain that

$$\mathcal{S}_{CR}(x) = \frac{(3+2j+3ij)x^3 + (2i+3j+2ij)x^2 + (-1+3i+2ij)x}{x^3 - x - 1}$$

Thus, the proof is completed.

Theorem 9. The partial sum of the first n terms of the bicomplex Padovan sequence $\{CP_n\}$ is

$$\sum_{i=0}^{n} CP_i = CP_{n+5} - 2 - 3i - 4j - 5ij, \quad n \ge 0.$$

Proof. We know that

 $\mathcal{C}P_{n+3} = \mathcal{C}P_{n+1} + \mathcal{C}P_n$

So, applying to the identity above, we deduce that

$$\begin{split} \mathcal{C}P_{3} &= \mathcal{C}P_{1} + \mathcal{C}P_{0}, \\ \mathcal{C}P_{4} &= \mathcal{C}P_{2} + \mathcal{C}P_{1}, \\ \mathcal{C}P_{5} &= \mathcal{C}P_{3} + \mathcal{C}P_{2}, \\ \dots, \\ \mathcal{C}P_{n+1} &= \mathcal{C}P_{n-1} + \mathcal{C}P_{n-2}, \\ \mathcal{C}P_{n+2} &= \mathcal{C}P_{n} + \mathcal{C}P_{n-1}, \\ \mathcal{C}P_{n+3} &= \mathcal{C}P_{n+1} + \mathcal{C}P_{n} \end{split}$$

If we sum of both of sides of the identities above, we obtain,

$$CP_{n+3} + CP_{n+2} = CP_1 + CP_2 + \sum_{i=0}^n CP_i.$$

Hence, we get the desired result.

Theorem 10. The partial sum of the first n terms of the bicomplex Perrin sequence $\{CR_n\}$ is

$$\sum_{i=0}^{n} CR_i = CR_{n+5} - 2 - 5i - 5j - 7ij, \quad n \ge 0.$$

Proof. We know that

$$\mathcal{C}R_{n+3} = \mathcal{C}R_{n+1} + \mathcal{C}R_n$$

So, applying to the identity above, we deduce that

$$CR_3 = CR_1 + CR_0,$$

 $CR_4 = CR_2 + CR_1,$
 $CR_5 = CR_3 + CR_2,$
...,
 $CR_{n+1} = CR_{n-1} + CR_{n-2},$
 $CR_{n+2} = CR_n + CR_{n-1},$
 $CR_{n+3} = CR_{n+1} + CR_n$

If we sum of both of sides of the identities above, we obtain,

$$\mathcal{C}R_{n+3} + \mathcal{C}R_{n+2} = \mathcal{C}R_1 + \mathcal{C}R_2 + \sum_{i=0}^n \mathcal{C}R_i.$$

Hence, we get the desired result.

Theorem 11. Let *m* be a positive integer. Then,

$$\sum_{n=0}^{m} \binom{m}{n} \mathcal{C}P_n = \mathcal{C}P_{3m}$$

Proof. Applying Binet-like formula (8), we obtain the identities

$$\sum_{n=0}^{m} \binom{m}{n} CP_n = \sum_{n=0}^{m} \binom{m}{n} (a\hat{\alpha}\alpha^n + b\hat{\beta}\beta^n + c\hat{\gamma}\gamma^n)$$
$$= \sum_{n=0}^{m} \binom{m}{n} (a\hat{\alpha}(\alpha)^n 1^{m-n} + b\hat{\beta}(\beta)^n 1^{m-n} + c\hat{\gamma}(\gamma)^n 1^{m-n})$$

Note that, for any real numbers a and b, and any positive integer m, the identity

 $\rightarrow m$

$$(a+b)^{m} = \sum_{n=0}^{m} \binom{m}{n} a^{n} b^{m-n}$$
(10)

~ (

holds. Hence

$$\begin{split} a\hat{\alpha}(\alpha+1)^m + b\hat{\beta}(\beta+1)^m + c\hat{\gamma}(\gamma+1)^m\\ \alpha^3 &= \alpha + 1, \, \beta^3 = \beta + 1 \text{ and } \gamma^3 = \gamma + 1 \text{ are due to (5). Hence,}\\ a\hat{\alpha}\alpha^{3m} + b\hat{\beta}\beta^{3m} + c\hat{\gamma}\gamma^{3m} \end{split}$$

 $\rightarrow m$ $\hat{a}(a)$

Thus, the proof is completed.

Theorem 12. Let *m* be a positive integer. Then,

~ /

$$\sum_{n=0}^{m} \binom{m}{n} \mathcal{C}R_n = \mathcal{C}R_{3m}$$

Proof. Applying Binet-like formula (9) and combining this with (10) and (5) we obtain the identity

$$\sum_{n=0}^{m} \binom{m}{n} CR_n = \sum_{n=0}^{m} \binom{m}{n} (\hat{\alpha}\alpha^n + \hat{\beta}\beta^n + \hat{\gamma}\gamma^n)$$
$$= \sum_{n=0}^{m} \binom{m}{n} (\hat{\alpha}(\alpha)^n 1^{m-n} + \hat{\beta}(\beta)^n 1^{m-n} + \hat{\gamma}(\gamma)^n 1^{m-n})$$
$$= \hat{\alpha}(\alpha+1)^m + \hat{\beta}(\beta+1)^m + \hat{\gamma}(\gamma+1)^m$$
$$= \hat{\alpha}\alpha^{3m} + \hat{\beta}\beta^{3m} + \hat{\gamma}\gamma^{3m}$$

Thus, the proof is completed.

Theorem 13. Let *m* be a positive integer. Then,

$$\sum_{k=0}^{m} \binom{m}{k} \mathcal{C}P_{n-k} = \mathcal{C}P_{n+2m}$$

Proof. Applying Binet-like formula (8) and combining this with (10) and (5) we obtain the identity

$$\sum_{k=0}^{m} \binom{m}{k} \mathcal{C}P_{n-k} = \sum_{k=0}^{m} \binom{m}{k} (a\hat{\alpha}\alpha^{n-k} + b\hat{\beta}\beta^{n-k} + c\hat{\gamma}\gamma^{n-k})$$
$$= \sum_{k=0}^{m} \binom{m}{k} (a\hat{\alpha}(\alpha)^{m-k}1^k\alpha^{n-m} + b\hat{\beta}(\beta)^{m-k}1^k\beta^{n-m} + c\hat{\gamma}(\gamma)^{m-k}1^k\gamma^{n-m})$$
$$= a\hat{\alpha}(\alpha+1)^m\alpha^{n-m} + b\hat{\beta}(\beta+1)^m\beta^{n-m} + c\hat{\gamma}(\gamma+1)^m\gamma^{n-m}$$
$$= a\hat{\alpha}\alpha^{n+2m} + b\hat{\beta}\beta^{n+2m} + c\hat{\gamma}\gamma^{n+2m}$$

Thus, the proof is completed.

Theorem 14. Let *m* be a positive integer. Then,

$$\sum_{k=0}^{m} \binom{m}{k} \mathcal{C}R_{n-k} = \mathcal{C}R_{n+2m}$$

Proof. Applying Binet-like formula (9) and combining this with (10) and (5) we obtain the identity

$$\sum_{k=0}^{m} \binom{m}{k} CR_{n-k} = \sum_{k=0}^{m} \binom{m}{k} (\hat{\alpha}\alpha^{n-k} + \hat{\beta}\beta^{n-k} + \hat{\gamma}\gamma^{n-k})$$
$$= \sum_{k=0}^{m} \binom{m}{k} (\hat{\alpha}(\alpha)^{m-k}1^{k}\alpha^{n-m} + \hat{\beta}(\beta)^{m-k}1^{k}\beta^{n-m} + \hat{\gamma}(\gamma)^{m-k}1^{k}\gamma^{n-m})$$
$$= \hat{\alpha}(\alpha+1)^{m}\alpha^{n-m} + \hat{\beta}(\beta+1)^{m}\beta^{n-m} + \hat{\gamma}(\gamma+1)^{m}\gamma^{n-m}$$
$$= \hat{\alpha}\alpha^{n+2m} + \hat{\beta}\beta^{n+2m} + \hat{\gamma}\gamma^{n+2m}$$

Thus, the proof is completed.

References

[1] M. Akyiğit, H. H. Kösal, M. Tosun, *Split fibonacci quaternions*, Adv. Appl. Clifford Algebr. 23 (2013), 535-545.

[2] Y. Alagöz, K. H. Oral, S. Yüce, *Split quaternion matrices*, Miskolc Math. Notes 13 (2012), 223-232.

[3] F. T. Aydın, *Bicomplex fibonacci quaternions*. Chaos, Solitons & Fractals 106 (2018), 147-153.

[4] F. T. Aydin, On bicomplex pell and pell-lucas numbers, Commun. Adv. Math. Sci. 1 (2018), 142-155.

[5] O. Altintaş, Ö. Özkan, H. M. Srivastava, *Majorization by starlike functions of complex order*, Complex Var. Elliptic Equ. 46 (2001), 207-218.

[6] J. Cockle, LII. On systems of algebra involving more than one imaginary; and on equations of the fifth degree. Phil. Mag. 35 (1849), 434-437.

[7] O. Diskaya, H.Menken, On the Split (s,t)-Padovan and (s,t)-Perrin Quaternions. Int. J. Appl. Math. Inform. 13 (2019), 25-28.

[8] O. Diskaya, H.Menken, On the Padovan Triangle. J. Contemp. Appl. Math. 10 (2020).

[9] O. Diskaya, H.Menken, On the (s,t)-Padovan and (s,t)-Perrin Quaternions. J. Adv. Math. Stud. 12 (2019) 177-185.

[10] S. P. Goyal, R. Goyal, On Bicomplex Hurwitz Zeta Function, South East Asian J. Math. Math. Sci. 4 (2006), 59-66.

[11] S. Halici, On Fibonacci quaternions, Adv. Appl. Clifford Algebr. 22 (2012), 321-327.

[12] S. Halici, On Complex Fibonacci Quaternions. Adv. Appl. Clifford Algebr. 23 (2013), 105-112.

[13] S. Halici, On Bicomplex Fibonacci Numbers and Their Generalization, Models and Theories in Soc. Syst. 2019.

[14] S. Halici, On Bicomplex Jacobsthal-Lucas Numbers, J. Math. Sci. Model. 3 139-143.

[15] S. Halici, S. Curuk, On Some Matrix Representations of Bicomplex Numbers, Konuralp J. Math. 7 (2019), 449-455.

[16] C. Kızılateş, P. Catarino, and N. Tuğlu, On the Bicomplex Generalized Tribonacci Quaternions, Mathematics 7, 1 (2019), 80.

[17] T. Koshy, Fibonacci and Lucas Numbers with Applications, John Wiley & Sons, New Jersey, 2018.

[18] J. Kubarski, *Cyclic Čech-Hochschild bicomplex*, Miskolc Math. Notes 14 (2013) 713-720.

[19] R. G. Lavoie, L. Marchildon, D. Rochon, *The bicomplex quantum harmonic oscillator*, arXiv preprint arXiv:1001.1149, 2010.

[20] R. G. Lavoie, L. Marchildon, D. Rochon, *Finite-dimensional bicomplex Hilbert spaces*, Adv. Appl. Clifford Algebr. 21 (2011), 561-581.

[21] M. E. Luna-Elizarraras, E. M. Shapiro, D. C. Struppa, A. Vajiac *Bicomplex* numbers and their elementary functions, Cubo (Temuco) 14 (2012), 61-80.

[22] G. Murugusundaramoorthy, H. M. Srivastava, *Neighborhoods of certain classes of analytic functions of complex order*, J. Inequal. Pure Appl. Math. 5 (2004), 1-8.

[23] M. Mursaleen, M. Nasiruzzaman, H. M. Srivastava, *Approximation by bicomplex beta operators in compact-disks*, Math. Methods Appl. Sci. 39 (2016), 2916-2929.

[24] S. K. Nurkan, I. A. Güven, A note on bicomplex Fibonacci and Lucas numbers, arXiv preprint arXiv:1508.03972, 2015.

[25] S. K. Nurkan, I. A. Güven, *Dual Fibonacci Quaternions*, Adv. Appl. Clifford Algebr. 25 (2015), 403-414.

[26] A. A. Pogorui, R. M. Rodriguez-Dagnino, On the set of zeros of bicomplex polynomials, Complex Var. Elliptic Equ. 51 (2006), 725-730.

[27] D. Rochon, S. Tremblay, *Bicomplex quantum mechanics: II. The Hilbert space*, arXiv preprint quant-ph/0510203, 2005.

[28] D. Rochon, M. Shapiro, On algebraic properties of bicomplex and hyperbolic numbers, An. Univ. Oradea Fasc. Mat. 11 (2004), 71-110.

[29] C. Segre, Le rappresentazioni reali delle forme complesse e gli enti iperalgebrici, Math. Ann. 40 (1892), 413-467

[30] Y. Soykan, *Bicomplex Tetranacci and Tetranacci-Lucas Quaternions*, Commun. Math. Appl. 11 (2019), 95-112.

[31] D. Tasci, *Padovan and Pell-Padovan Quaternions*, Journal of Science and Arts, (1) (2018), 125-132.

[32] N. Yilmaz, N. Taskara, *Binomial Transforms of the Padovan and Perrin Matrix Sequences*, Astract and Applied Analysis, Article ID 497418 (2013), 7 pages.

[33] Y. Yazlik, S. Köme, C. Köme, *Bicomplex generalized k-Horadam quaternions*, Miskolc Math. Notes 20 (2019) 1315-1330.

[34] E. Özkan, B. Kuloğlu, On the bicomplex Gaussian Fibonacci and Gaussian Lucas numbers, Acta Comment. Univ. Tartu. Math. 26, 1 (2022), 33-43.

[35] P. Catarino, *Bicomplex k-Pell quaternions*, Comput. Methods Funct. Theory. 19, 1 (2019), 65-76.

[36] G. Cerda-Morales, On bicomplex third-order Jacobsthal numbers, Complex Var. Elliptic Equ. (2021), 1-13.

[37] Y. Soykan, E. Taşdemir, On bicomplex generalized Tetranacci quaternions, Notes on Number Theory and Discrete Mathematics 26, 3 (2020), 163–175.

Orhan Dişkaya Department of Mathematics, Mersin University Mersin, Turkey email: orhandiskaya@mersin.edu.tr

Hamza Menken Department of Mathematics, Mersin University Mersin, Turkey email: hmenken@mersin.edu.tr